HEISHHD & & FDIRR

(BHEDRR) S 5 FE
(5. ZD=T LMY hEIATY)
BER 36 (26)
(s £ B4 298 (278)
=1-11 334 (304)
BER 1,457,000 (1,195,000)
ZkizE (F9) B4 14,535,000 (6,187,000)
ast 15,992,000 (7,382,000)
(CRALERDEFFIRNF)
IR—=FILTA b4 BEREN
NdTEFIAAX 113
HER(NDE TR 126
=ERND 64
JALSND & &HmtR 119
XoHl 6 6 5 HIRTE
UBITYE G INE S L= E2 28
Xl 6 6 5 HIRTE
(FMIER - D)
SO (E) w— I (FF) e () P ()

30,000
25,000
20,000
15,000
10,000

5,000

H294E  H304F

24 i 4
I EFEE(FH) 20,468 23,483 20,430
== 55 () 256 596 679

RIEE

RZEEE R3EE RAFE

27,851 25,172 16,454
1,115 1,078 434

1/3R—=2

RSEEFE
15,992
334

1,200

1,000

800

600

400

200

0




(FHHRROFH)

XD 5FE

SIS ER  EEFEEKLE (FH)
JAL

250

3& /S\é
1,360

50,000 ~
26

3]Gk

eldic
JLEAER - RS
PR

cjES)

Rig

=ik

U

FE

tiEE

SMMFER (RBRH)

HkAE A28 &8 (FH)
=z 30 8,610
ABEEFIAR 143 3,222
X 105 2,550
=TERD 48 1,360
JAL 8 250
ast 334 15,992
kTR &R
5,000~ 89
10,000~ 123
20,000H~ 48
30,000H~ 27
40,000H~ 2
50,000H~ 26
100,000H~ 13
500,000H~ 4
1,000,000H~ 2
=111 334

xR ZkeE (FH)

0

2,000

4,000

Hax &8 (FA)
FARIER 219 12,506
e 42 1,497
JLBIER - BRME 13 775
Pl 28 420
TE 272
b 16 230
it 115
FU 2 90
HE 4 77
itimE 1 10
o 334 15,992
6,000 8,000 10,000

2/3R=Y

12,000

14,000




ZfLam EAI106m (&)

HEBEIIEHS5kg x 6/ H w2 Al
300,000 250,000
EBRET IR H]
340,000

FHEYELSS MY(X

400,000 -
Y =)
HEIF DB 5ke
520,000
fF vk (BELEIYa—R)
H & EH7 2 Bhiskg X 65 B 700,000
540,000
570,000
o Lo Z5HIZE §|1ﬁ1¢§51 ?Ermq@zﬁ
(M) ast &t (M)
1 |HEISEST~2BI5kg 10,000 127 1,270,000
2 |IADEEHFE A 240,000 3 720,000
3 [(#90mFo v~ ELIHhI—-X) 350,000 2 700,000
4 |HEIFEI> B 5kg 10,000 57 570,000
5 |HEIEEH<BISkgx60 8 60,000 9 540,000
6 |HEIFDIEZE5kg 10,000 52 520,000
7 |FEDHESES MUK 100,000 4 400,000
8 lEpEET7O [(BH) 5,000 68 340,000
9 |HEIFE IS EHUSkgx6m0 8 60,000 5 300,000
10 |#EEAC 10,000 25 250,000
EmERAla#] BAMIEM10&m (HEUIE)
17 ZZ
13
SEZDAAHZRDF
19
WS OaYI4Fa—IL
21
#EAZ
25
EREYN[GH]
32
" e e %ﬁrsﬁfrgx %jﬂiﬁﬁﬁﬁ
) ait &t (M)
1 |HEISESTZBh5kg 10,000 127 1,270,000
2 PREEET7O [(BH] 5,000 68 340,000
3 |HEIFE S EHY5kg 10,000 57 570,000
4 |HEIFDESE5kg 10,000 52 520,000
5 RS/ [AH] 5,000 32 160,000
6 [#ERAC 10,000 25 250,000
7 lWsZCDad>T4Fa1—IL 10,000 21 210,000
8 | XDAHCERDZER 5,000 19 95,000
9 [EBIERE [(AH] 5,000 17 85,000
10 | X 5,000 13 65,000

3/3R=Y




